(B(2nd Sm.)-Economics-MDCICC-2/CCF )

2024

ECONOMICS — MDC
Paper : CC-2
(Macroeconomics-1I)

Full Marks : 75

Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version ]
The figures in the margin indicate full marks.

Group - A

1. Answer any fen questions : 2x10

(a)
(b)
()
(d)
(e)
()
(2)
(h)

(i)

@
13]

oy
(m)
(n)
(0)

Distinguish between Net National Product and Net Domestic Product.
What is GDP deflator?

Define Keynesian Consumption function.

Distinguish between average propensity to consume and marginal propensity to consume.
What is meant by Multiplier?

What is depreciation?

Mention four factors determining marginal efficiency of capital.

State Say’s Law.

Why is money said to be neutral in classical system?

Define demand pull inflation.

Mention two anti inflationary policies.

Explain the concept of Balanced Budget Multiplier.

Mention the sources of supply of loanable funds.

How does the Marginal Efficiency of Capital Curve look like?

If marginal propensity to consume is 0.5, what will be the value of investment multiplier?

Group - B

2. Answer any five questions :

(a)
(b)
(c)

(d)
(e)

Explain, graphically, the idea of Circular flow of income. 5
Define investment. Distinguish between autonomous investment and induced investment. 243
(i) Determine equilibrium income :
Y =C+I1
C=200+0.8Y
[=100 rupees
(i) Determine the equilibrium level of Saving. 3+2
What is Classical dichotomy? Mention the main features of Classical System. 1+4

“Full employment is an automatic process in the Classical System.” — Discuss. 5
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(f)
(2)
(h)

What is meant by Paradox of Thrift? 5
What is Inflationary Gap? Discuss the economic effects of inflation. 243
Explain briefly : 1x5

(i) Transfer income

(i) GDP and GNP
(i) Personal disposable income
(iv) Real National Income

(v) Leakages from Circular flow.

Group - C

3. Answer any three questions :

(a)

(b)

(c)

(d)

()

Explain the process of estimating National Income by the Value added method. What is the problem
of double counting? 7+3

Explain, graphically, the process of determination of equilibrium national income in a Simple
Keynesian Model. 10

Define Marginal Efficiency of Capital. Discuss the relation between Marginal Efficiency of Capital
and Marginal Efficiency of Investment. 2+8

Discuss the Cambridge Version of the Quantity theory of Money. How does it differ from the
Cash Transaction Version? 6+4

Describe the monetary and fiscal policies to control inflation. 5+5



